Method 05 - Six Groups - Pali and Translation
(One example is given, for each group)

1. (193) rapakkhandhena ye dhamma khandhasangahena asangahita ayatanasangahena
asangahita dhatusangahena asangahita, tehi dhammehi ye dhamma khandhasangahena
asangahita ayatanasangahena asangahita dhatusangahena asangahita, te dhamma Katihi
khandhehi katihayatanehi katihi dhatthi asangahita? te dhamma ekena khandhena
ekenayatanena sattahi dhatiihi asangahita. These states are unclassified using the aggregates,
unclassified using the bases, unclassified using the elements by the matter aggregate, These
states are unclassified using the aggregates, unclassified using the bases, unclassified using
the elements by those states. Under how many aggregates, under how many bases and under
how many elements are those states unclassified? Those states, are unclassified under 1

aggregate, under 1 base and under 7 elements.

2. (194) vedanakkhandhena ye dhamma khandhasangahena asangahita ayatanasangahena
asangahita dhatusangahena asangahita, tehi dhammehi ye dhamma khandhasangahena
asangahita ayatanasangahena asangahita dhatusangahena asangahita, te dhamma Katihi
khandhehi katihayatanehi katihi dhatihi asangahita? te dhamma dvihi khandhehi
ekadasahayatanehi sattarasahi dhatiihi asangahita. These states are unclassified using the
aggregates, unclassified using the bases, unclassified using the elements by the feeling
aggregate, These states are unclassified using the aggregates, unclassified using the bases,
unclassified using the elements by those states. Under how many aggregates, under how many
bases and under how many elements are those states unclassified? Those states, are

unclassified under 2 aggregates, under 11 bases and under 17 elements.
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3. (195) viffanakkhandhena ye dhamma khandhasangahena asangahita ayatanasangahena
asangahita dhatusangahena asangahita, tehi dhammehi ye dhamma khandhasangahena
asangahita ayatanasangahena asangahita dhatusangahena asangahita, te dhamma Katihi
khandhehi katihayatanehi katihi dhatohi asangahita? te dhamma catahi khandhehi
ekadasahayatanehi ekadasahi dhatihi asangahita. These states are unclassified using the
aggregates, unclassified using the bases, unclassified using the elements by the consciousness
aggregate, These states are unclassified using the aggregates, unclassified using the bases,
unclassified using the elements by those states. Under how many aggregates, under how many
bases and under how many elements are those states unclassified? Those states, are

unclassified under 4 aggregates, under 11 bases and under 11 elements.

4. (196) Cakkhayatanena ye dhamma khandhasangahena asangahita ayatanasangahena
asangahita dhatusangahena asangahita, tehi dhammehi ye dhamma khandhasangahena
asangahita ayatanasangahena asangahita dhatusangahena asangahita, te dhamma Katihi
khandhehi katihayatanehi katihi dhatohi asangahita? te dhamma cattahi khandhehi
dvihayatanehi atthahi dhatiihi asangahita. These states are unclassified using the aggregates,
unclassified using the bases, unclassified using the elements by the matter aggregate, These
states are unclassified using the aggregates, unclassified using the bases, unclassified using
the elements by those states. Under how many aggregates, under how many bases and under
how many elements are those states unclassified? Those states, are unclassified under 4

aggregates, under 2 bases and under 8 elements.
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5. (203) namarapapaccaya salayatanena ye dhamma khandhasangahena asangahita

ayatanasangahena asangahita dhatusangahena asangahita, tehi dhammehi ye dhamma
khandhasangahena asangahita ayatanasangahena asangahita dhatusangahena asangahita, te
dhamma katihi khandhehi katihayatanehi katihi dhatthi asangahita? te dhamma tihi khandhehi
ekenayatanena ekaya dhatuya asangahita. These states are unclassified using the aggregates,
unclassified using the bases, unclassified using the elements by (conditioned by mentality
corporeality are) six bases, These states are unclassified using the aggregates, unclassified
using the bases, unclassified using the elements by those states. Under how many aggregates,
under how many bases and under how many elements are those states unclassified? Those

states, are unclassified under 3 aggregates, under 1 base and under 1 element.

ariipabhavena ye dhamma khandhasangahena asangahita ayatanasangahena asangahita
dhatusangahena asangahita, tehi dhammehi ye dhamma khandhasangahena asangahita
ayatanasangahena asangahita dhatusangahena asangahita, te dhamma katihi khandhehi
katihayatanehi katihi dhattihi asangahita? te dhamma ekena khandhena dasahayatanehi dasahi
dhatthi asangahita. These states are unclassified using the aggregates, unclassified using the
bases, unclassified using the elements by the immaterial becoming, These states are
unclassified using the aggregates, unclassified using the bases, unclassified using the elements
by those states. Under how many aggregates, under how many bases and under how many
elements are those states unclassified? Those states, are unclassified under 1 aggregate, under

10 bases and under 10 elements.



